._(; Dyh ,4'44;1( ] -&l.h-f’f‘ f)/_f/fud.e. rvvw ﬁ(w 4/14,“.!./(“

-

5. 4. fc[..@(f—//?ou«r A/ wrehverer Pwé"{%é\{&a

| £l 1{‘—1 fCéQ ’[’?4‘4 ] ’/f.( /77'{.’ Een Mf,%//,qqg{gﬂf: o

= it fclva/qu"/ irl alle Ha.u( V-‘/ld'm'gi g(&/{th,{
"' bla L(q'/‘(.['!& Auud e fcéw&/fumA/ 1141444{ 10‘14

Dr-«‘.[r wutoet £n {

kol aége.]cé/{’.{utuf! éra’?’{fﬁ{)(! fywé:w = fé[.w&f/aau/[

Ialweqé sleb i

v = C@MJ‘[ IHHZLL);&J":{ eam o’#w

E—,JL[‘WV,-“):? l(q‘#(m a/vzr E‘u‘1.¢(wu4!.( fu

e L,—Co' au/’wu Moa[f—&'uw:'w(uq] d«f [-"'z-f/aaa.(.feq é-fwf:(f

ffcé ;/-L( .rclywﬂ/lodul‘{ (o ) a[f Weuter Cllf ki‘l;-/‘{'(

dox | .(c[uv‘-//aw Lf anrc{fep,. .

Schwerpunkt mehrerer Punktmassen

—>»

Xmiri
-
rsp=

2 mi

2 mi Xi
X SP =

> mi
Y SP = f.;m?yl

2 mi

X miz
ZSP =

2 mi

Ysp

X; Xgp

3¢



